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QUESTION 1

In a library, 30% of the books are fiction and the rest are non-fiction.

Given that there are 2,000 more non-fiction books than fiction books, what is the total number of books in the library?
A. 4,000

B. 3,000

C. 6,000

D. 5,000

Correct Answer: D

QUESTION 2

When a number is subtracted from 125 and the result is divided by 12, the answer obtained is twice the original
number.

What is the number?
A. 10

B.5

C. 4

D. 25

Correct Answer: B

QUESTION 3

A tank is 12 cm high with a square base. Its sides are 10 centimeters wide. What is the volume of the tank in cubic
centimeters?

A. 600
B. 1200
C.120
D. 4800

Correct Answer: B

QUESTION 4
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Convert 250 centimeters to kilometers.
A. 0.0025 km

B. 0.025 km

C. 0.250 km

D. 2.50 km

Correct Answer: A

QUESTION 5

A r Y

The figure shows two types of data distribution.

The distribution represented by graph B is best described as
A. skewed right

B. symmetric

C. bimodal

D. skewed left

Correct Answer: A
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